


Item

=

©Co~NOoOOaM~APMWN

AO1
AO1
AO01
A02
A02
A02
A02
A02
A02
A02
AO3
AO04
AO05
AO6
AO6
AO6
AO6

Parts_No.
815C92-2
187142-8
266130-9
125435-5
233438-6
419250-0
650653-1
631692-0
644808-8
251468-5
763196-5
253798-0
125430-5
419558-2
268199-9
450385-8
638425-4
619165-3
638849-4
231696-8
231697-6
194427-5
263032-0
419642-3
266130-9
911006-2
689145-3
232220-0
187142-8
266045-0
346317-0
251314-2
122576-8
286226-0
322223-3
123168-6
154835-2
251812-6
266724-0
345463-6
453037-0
931202-6
251314-2
452947-8
784637-8
140354-4
821550-0
419216-0
453974-8

Parts_Description
DHP451 NAME PLATE
HOUSING SET
TAPPING SCREW BIND PT 3X16
SPEED CHANGE LEVER ASS'Y
COMPRESSION SPRING 4
F/R CHANGE LEVER
SWITCH TG553FSB-4B
LIGHT CIRCUIT
TERMINAL

#NAVN?
KEYLESS DRILL CHUCK 13
FLAT WASHER 13
GEAR ASS'Y
SPEED CHANGE RING
PIN 1.4
CHANGE LEVER
YOKE UNIT
ARMATURE
BRUSH HOLDER COMPLETE
TORSION SPRING R
TORSION SPRING L
CARBON BRUSH CB-440
RUBBER PIN 4
REAR COVER
TAPPING SCREW BIND PT 3X16
PAN HEAD SCREW M3X8
HEATSINK
LEAF SPRING
HOUSING SET
TAPPING SCREW 4X20
HOOK

#NAVN?
STOPPER POLE ASS'Y
CAP 20
DEPTH ROD
GRIP ASSEMBLY
GRIP36 COMPLETE
SCREW M5X10
SQUARE BOLT M8X75
GRIP SPRING 60
GRIP BASE 60
HEX. NUT M5

#NAVN?
BIT HOLDER
+- BIT 2-45
PLASTIC CASE COMPLETE
CONNECTOR PLASTIC CASE (TYPE2)
HANDLE
LATCH

Qty

Unit
1
1 SET
8 PC.
1 PC.
2 PC.
1 PC.
1 PC.
1 PC.
1
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
2 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 SET
2 PC.
1 PC.
2 PC.
1 PC.
1 PC.
2 PC.
1 SET
4 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
2 PC.
1 PC.
1 PC.
1 PC.
4 PC.



A06
AO6
AO6
AO6
AOGA
AOGA
AO6B
AO6B
AO6B
AO6B
AO6B
AO6B
A06C
AO06C
AO07
AO7A
AO07B
AO07C
AO8
AO8A
AO08B
A08C
A09
AO09A
A09B
A09C
Al10
Al10
A10A
All
Al1A
Al12
Al2

417724-5
419268-1
419269-9
324667-3
821550-0
453974-8
140354-4
419216-0
417724-5
419268-1
419269-9
324667-3
821550-0
453974-8
450128-8
837916-4
450128-8
450128-8
**DC18RC
802R65-4
**DC18RC
*»**DC18RC
194204-5
802R77-7
196399-0
196399-0
802R67-0
802R72-7
837916-4
802R64-6
802R85-8
802R76-9
802R86-6

LATCH
PLASTIC CASE LID
PLATE
SHAFT

CONNECTOR PLASTIC CASE (TYPEZ2)

LATCH

PLASTIC CASE COMPLETE
HANDLE

LATCH

PLASTIC CASE LID

PLATE

SHAFT

CONNECTOR PLASTIC CASE (TYPE2)

LATCH

BATTERY COVER

INNER TRAY

BATTERY COVER

BATTERY COVER

DC18RC FAST CHARGER
DHP451ZJ PLASTIC CASE LABEL
DC18RC FAST CHARGER

DC18RC FAST CHARGER
BATTERY BL1830 SET

DHP451Z7J INDICATION LABEL
BATTERY BL1840 SET

BATTERY BL1840 SET
DHP451RME PLASTIC CASE LABEL
DHP451RFE PLASTIC CASE LABEL
INNER TRAY

DHP451RFJ PLASTIC CASE LABEL
DHP451RMJ INDICATION LABEL
DHP451RFJ INDICATION LABEL
DHP451RMJ PLASTIC CASE LABEL

2 PC.
1 PC.
5 PC.
1 PC.
1 PC.
4 PC.
1 PC.
1 PC.
2 PC.
1 PC.
5 PC.
1 PC.
1 PC.
4 PC.
1 PC.

1 PC.
1 PC.
1 PC.

1 PC.
1 PC.
2 PC.

2 PC.
2 PC.

N R R NP R



